\Domaln of Radical

Rationalizing Denominators

: Removing the radical in the denominator.

1. The radical is a sigle term.
Multiply both the numerator and the denominator of the expression by something which will

produce a perfect root in the denominator. 2
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Note that the denominator in the last fraction contains no radical.

Ex13) Rationalizing Denominators.

RGI 5”@@‘?““@?“55
NP U o g{%
b>\s/°3§ T l=03 5 2 2
LA AT e X s )
o /L7 L\%QMO\WWW
@2 = e I & . TE = T -
v?{f'“ aa Qﬁ{j\? ai a




. The Denominator is a Sum of Terms.

If the denominator has a sum of radical form such as

a + by/m,

multiply both the numerator and denominator by the conjugate of the denominator.

Note. Conjugate of a + by/m is a — by/m.
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Ex14) Rationalize the denominator.
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3. Combining Radical Expressions

Radical expressions can only be combined by addition or subtraction if there are like terms-terms
with the same index and same redicand(the expression inside the radical).
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Ex15) Simplify the expression. Con , ggﬂ WQ .
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